

2015 (H)

EX. 8 Group ExerciseD1(U) Maths
paper-1st, Gr-ASummation of series
(this method) $\cos \theta \cdot \sin \theta$ w.o.
1(i) Find the sum of

$$\cos \theta - \frac{1}{2} \cos 2\theta + \frac{1}{3} \cos 3\theta - \dots$$

$$\text{hence } c = \cos \theta - \frac{1}{2} \cos 2\theta + \frac{1}{3} \cos 3\theta - \dots$$

$$\text{and } s = \sin \theta - \frac{1}{2} \sin 2\theta + \frac{1}{3} \sin 3\theta - \dots$$

$$\therefore c + is = (\cos \theta + i \sin \theta) - \frac{1}{2} (\cos 2\theta + i \sin 2\theta)$$

$$+ \frac{1}{3} (\cos 3\theta + i \sin 3\theta) - \dots$$

$$\therefore c + is = e^{i\theta} - \frac{1}{2} e^{2i\theta} + \frac{1}{3} e^{3i\theta} - \dots$$

$$\text{hence } x = e^{i\theta}$$

$$\therefore c + is = x - \frac{1}{2} x^2 + \frac{1}{3} x^3 - \dots$$

$$= \log(1+x) = \log(1+e^{i\theta})$$

$$= \log(1 + \cos \theta + i \sin \theta)$$

$$= \log \left\{ 2 \cos \frac{\theta}{2} + i 2 \sin \frac{\theta}{2} \cos \frac{\theta}{2} \right\}$$

$$= \log \left\{ 2 \cos \frac{\theta}{2} (\cos \frac{\theta}{2} + i \sin \frac{\theta}{2}) \right\}$$

$$= \log 2 \cos \frac{\theta}{2} \cdot e^{i\theta/2}$$

$$= \log(2 \cos \frac{\theta}{2}) + \log e^{i\theta/2}$$

$$c + is = \log(2 \cos \frac{\theta}{2}) + i\theta/2 \log e = \log(2 \cos \frac{\theta}{2}) + i\theta/2$$

$$c + is = \log(2 \cos \frac{\theta}{2}) + i\theta/2$$

$$\text{Hence } \log(1+ix) = x - \frac{1}{2} x^2 + \frac{1}{3} x^3 - \dots$$

Equating real and imaginary parts, we have

$$c = \log(2 \cos \frac{\theta}{2}) \text{ and } s = \frac{\theta}{2}$$

$$\therefore c = \log(2 \cos \frac{\theta}{2}) \text{ Ans}$$

Summation of series

(2)

Formulae (2)

v.o find the sum of

$$\frac{2}{\sin \theta \cos \theta - \frac{1}{3} \sin^3 \theta \cos^3 \theta + \frac{1}{5} \sin^5 \theta \cos^5 \theta - \dots}$$

$$\text{let } C = \sin \theta \cos \theta - \frac{1}{3} \sin^3 \theta \cos^3 \theta + \frac{1}{5} \sin^5 \theta \cos^5 \theta - \dots$$

$$\text{and } S = \sin \theta \sin \theta - \frac{1}{3} \sin^3 \theta \sin^3 \theta + \frac{1}{5} \sin^5 \theta \sin^5 \theta - \dots$$

$$C + iS = \sin \theta (\cos \theta + i \sin \theta) - \frac{1}{3} \sin^3 \theta (\cos^3 \theta + i \sin^3 \theta) + \frac{1}{5} \sin^5 \theta (\cos^5 \theta + i \sin^5 \theta) - \dots$$

$$= \sin \theta \cdot e^{i\theta} - \frac{1}{3} \sin^3 \theta \cdot e^{i3\theta} + \frac{1}{5} \sin^5 \theta \cdot e^{i5\theta} - \dots$$

$$= x - \frac{1}{3} x^3 + \frac{1}{5} x^5 - \dots \quad \left[\text{for } x = \sin \theta e^{i\theta} \right]$$

$= \tan^{-1}(x)$... By Gregory's series

$$C + iS = \tan^{-1}(\sin \theta e^{i\theta}) \quad \text{--- (1)}$$

$$\therefore C - iS = \tan^{-1}(\sin \theta e^{-i\theta}) \quad \text{--- (2)}$$

Adding (1) and (2) we get

$$2C = \tan^{-1}(\sin \theta e^{i\theta}) + \tan^{-1}(\sin \theta e^{-i\theta})$$

$$= \tan^{-1} \frac{\sin \theta \cdot e^{i\theta} + \sin \theta \cdot e^{-i\theta}}{1 - \sin^2 \theta \cdot e^{i\theta} \cdot e^{-i\theta}}$$

$$\therefore 2C = \tan^{-1} \frac{\sin \theta (e^{i\theta} + e^{-i\theta})}{1 - \sin^2 \theta \cdot e^0}$$

$$= \tan^{-1} \frac{\sin \theta (2 \cos \theta)}{\cos^2 \theta}$$

$$2C = \tan^{-1} \frac{2 \sin \theta}{\cos \theta} = \tan^{-1}(2 \tan \theta)$$

$$\therefore C = \frac{1}{2} \tan^{-1}(2 \tan \theta) \quad \text{Ans}$$

$$\frac{3}{w=0} \quad \cos \theta + \frac{a \cos 2\theta}{L_1} + \frac{a^2 \cos 3\theta}{L_2} + \frac{a^3 \cos 4\theta}{L_3} + \dots \quad (2)$$

$$\text{Let } c = \cos \theta + \frac{a \cos 2\theta}{L_1} + \frac{a^2 \cos 3\theta}{L_2} + \frac{a^3 \cos 4\theta}{L_3} + \dots$$

$$\text{and } s = \sin \theta + \frac{a \sin 2\theta}{L_1} + \frac{a^2 \sin 3\theta}{L_2} + \frac{a^3 \sin 4\theta}{L_3} + \dots$$

$$\therefore c + is = (\cos \theta + i \sin \theta) + \frac{a}{L_1} (\cos 2\theta + i \sin 2\theta) + \frac{a^2}{L_2} (\cos 3\theta + i \sin 3\theta) + \frac{a^3}{L_3} (\cos 4\theta + i \sin 4\theta) + \dots$$

$$\therefore c + is = e^{i\theta} + \frac{a}{L_1} e^{2i\theta} + \frac{a^2}{L_2} e^{3i\theta} + \frac{a^3}{L_3} e^{4i\theta} + \dots$$

$$= e^{i\theta} \left\{ 1 + \frac{a e^{i\theta}}{L_1} + \frac{a^2 e^{2i\theta}}{L_2} + \frac{a^3 e^{3i\theta}}{L_3} + \dots \right\}$$

$$\text{Let } x = a e^{i\theta} \quad \therefore = e^{i\theta} \left\{ 1 + \frac{x}{L_1} + \frac{x^2}{L_2} + \frac{x^3}{L_3} + \dots \right\}$$

$$= e^{i\theta} \cdot e^x = e^{i\theta} \cdot e^{a e^{i\theta}}$$

$$= e^{i\theta} \cdot e^{a(\cos \theta + i \sin \theta)}$$

$$= e^{i\theta} + a \cos \theta + i a \sin \theta$$

$$= a \cos \theta + i(0 + a \sin \theta)$$

$$= e^{a \cos \theta} \cdot e^{i(0 + a \sin \theta)}$$

$$c + is = e^{a \cos \theta} [\cos(0 + a \sin \theta) + i \sin(0 + a \sin \theta)]$$

Equating real parts both sides, we get

$$c = e^{a \cos \theta} \cos(0 + a \sin \theta) \quad \text{Ans}$$

$$\frac{1}{2} \quad e^x = 1 + \frac{x}{L_1} + \frac{x^2}{L_2} + \frac{x^3}{L_3} + \dots$$

$$e^{i\theta} = \cos \theta + i \sin \theta$$

$$e^{-i\theta} = \cos \theta - i \sin \theta$$

$$\therefore e^{i\theta} + e^{-i\theta} = 2 \cos \theta$$